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(é)' HWhat does ‘polluter pay principle
imply? |
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(f) Wﬁy is free rider a problem?
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(g9 Mention one measure for reducing the
emiSsion of greenhouse gases.

CICEY2 (% He37]9 ZPR A 961 T4 TEd

2. Answér‘the following questions : 2x4=8
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(a) What 1s transaction.cost?
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d) Explain how allocation of property right _' i,
results in efficient '‘resource use. |
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4. Answer the following questions : 10360

reSoOUurces.
how tragedy of commons
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case of common  property
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What is Internalization of externag]

L , . 1ty? |
. _HOW can  negative exXternality ge
nernalized? Explain with  sujigtilR 8
diagram. able g —
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Or/ 9341

How are global warming and climate
change related? How do human
activities contribute to global warming
in present time? 4+6=10
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